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Part 1: Foundational Knowledge

What is the Law of Sines formula?

Hint: Recall the formula that relates the sides and angles of a triangle.

\(\frac{a}{\cos A} = \frac{ b}{\cos B} = \frac{c}{\cos C}\)
\(\frac{a}{\tan A} = \frac{ b}{\tan B} = \frac{c}{\tan C}\)
\(\frac{a}{\sin A} = \frac{ b}{\sin B} = \frac{c}{\sin C}\) ✓
\(\frac{a}{A} = \frac{ b}{ B} = \frac{c}{C}\)

The Law of Sines formula is \(\frac{a}{\sin A} = \frac{ b}{\sin B} = \frac{c}{\sin C}\).

Which of the following are conditions where the Law of Sines can be applied?

Hint: Think about the types of triangles and the information needed.

Solving right triangles
Solving non-right triangles ✓
Finding unknown angles in a triangle ✓
Finding unknown sides in a triangle ✓

The Law of Sines can be applied in non-right triangles and when finding unknown angles or sides.

Explain the concept of the ambiguous case in the context of the Law of Sines.

Hint: Consider scenarios where multiple triangles can be formed.
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The ambiguous case occurs when two sides and a non-included angle are known, potentially
leading to two different triangles.

List the variables in the Law of Sines formula and what they represent.

Hint: Think about the sides and angles of a triangle.

1. What does 'a' represent?

The length of side opposite angle A.

2. What does 'A' represent?

The angle opposite side a.

3. What does 'c' represent?

The length of side opposite angle C.

In the Law of Sines, 'a', ' b', and 'c' represent the lengths of the sides, while 'A', ' B', and 'C' represent the
angles opposite those sides.

Part 2: Understanding and Interpretation
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In which scenario is the ambiguous case likely to occur?

Hint: Consider the combinations of known sides and angles.

When two angles and a side are known
When two sides and an included angle are known
When two sides and a non-included angle are known ✓
When all three sides are known

The ambiguous case is likely to occur when two sides and a non-included angle are known.

What are the possible outcomes when solving a triangle using the Law of Sines with the ambiguous
case?

Hint: Think about the number of triangles that can be formed.

No solution ✓
One solution ✓
Two solutions ✓
Three solutions

The possible outcomes include no solution, one solution, or two solutions.

Describe how you would determine if a triangle has two solutions using the Law of Sines.

Hint: Consider the relationships between the sides and angles.

To determine if a triangle has two solutions, check if the known angle is acute and if the opposite
side is shorter than the other known side.

Part 3: Applying Knowledge and Analyzing Relationships

StudyBlaze.io
Your AI Tutor for interactive quiz, worksheet and flashcard creation.

Create hundreds of practice and test experiences based on the latest learning science.

Visit Studyblaze.io

Law Of Sines Worksheet With More Than One Solution Questions and Answers PDF

https://studyblaze.io/


Given a triangle with sides a = 7, b = 10, and angle A = 30°, how many solutions are possible?

Hint: Consider the relationships between the sides and the known angle.

0
1 ✓
2
3

There is one solution possible for this triangle configuration.

If a triangle has sides a = 5, b = 8, and angle A = 45°, which of the following are true?

Hint: Evaluate the triangle's properties based on the given information.

The triangle has one solution. ✓
The triangle has two solutions.
The side a is the height of the triangle.
The side a is shorter than the height of the triangle. ✓

The triangle has one solution, and side a is shorter than the height of the triangle.

Solve for angle B in a triangle where a = 6, b = 9, and angle A = 40°. Show your work.

Hint: Use the Law of Sines to find the unknown angle.

To find angle B, apply the Law of Sines and solve for the angle using the known values.

What is the first step in solving a triangle using the Law of Sines when given two sides and a non-
included angle?

Hint: Think about the order of operations in solving triangles.

Calculate the height of the triangle
Use the Law of Sines to find the unknown angle ✓
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Check if the given side is longer than the other known side
Draw a diagram of the triangle

The first step is to use the Law of Sines to find the unknown angle.

Part 4: Synthesis and Reflection

If a triangle with sides a = 8, b = 10, and angle A = 60° results in two solutions, what can be inferred
about side a?

Hint: Consider the relationship between the sides and the height of the triangle.

It is longer than the height of the triangle. ✓
It is shorter than the height of the triangle.
It is equal to the height of the triangle.
It is longer than side b.

If two solutions exist, side a is likely longer than the height of the triangle.

Evaluate the following statements about the Law of Sines:

Hint: Consider the applicability and requirements of the Law of Sines.

It can be used to solve any triangle. ✓
It requires at least one angle to be known. ✓
It is only applicable to right triangles.
It can determine the area of a triangle.

The Law of Sines can be used to solve any triangle, requires at least one angle to be known, and is not
limited to right triangles.

Create a real-world problem involving the Law of Sines with an ambiguous case and provide a
detailed solution.

Hint: Think about a scenario where measurements lead to multiple triangles.
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A real-world problem could involve navigation or construction where measurements lead to two
possible solutions.
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